
L I S T E  D E S  P I È C E S  D É T A C H É E S  
ELENCO DEI  PEZZ I  D I  R ICAMBIO

NANO SPA
SPARE PARTS LIST

References: 
N-SPA-S1 N-SPA-S1-R N-SPA-1 
N-SPA-1-R N-SPA-T1 N-SPA-T1-R
N-SPA-S2 N-SPA-S2-R N-SPA-2 
N-SPA-2-R N-SPA-T2 N-SPA-T2-R
N-SPA-S3 N-SPA-S3-R N-SPA-3 
N-SPA-3-R N-SPA-T3 N-SPA-T3-R
N-SPA-S4 N-SPA-S4-R N-SPA-4 
N-SPA-4-R N-SPA-T4 N-SPA-T4-R
N-SPA-S4.5 N-SPA-S4.5-R N-SPA-4.5 
N-SPA-4.5-R N-SPA-T4.5 N-SPA-T4.5-R
N-SPA-S5 N-SPA-S5-R N-SPA-5 
N-SPA-5-R N-SPA-T5 N-SPA-T5-R
N-SPA-S6 N-SPA-S6-R N-SPA-6 
N-SPA-6-R N-SPA-T6 N-SPA-T6-R



Nano SPA

Version 1. 2018 2/4

19

16 6

18

17

9

25

21

24

12

14

5

1

8

4

13

27

22

32

30

28

23

31

29

20

26

7

3

15

2

11

10

33

34
36

35



Version 1. 2018 3/4

Item 

No.:
Description: Description: Pcs/Unit: Part Number:

1
Stainless Steel Flow Tube

Titanium Flow Tube
Tube d'écoulment 1

X‐TUB‐SS200‐1E             

X‐TUB‐TI200‐1E

2 Electrical Bottom Cover / Bridge  Partie Boitier inférieur 1 Z‐IM‐NO‐BC

3 Electrical Top Cover  Partie Boitier supérieur 1 Z‐IM‐NO‐TC‐BLK

4 Lower Foot (Without Key Hole Hooks)  Pied Inferieur (sans fixations) 1 Z‐IM‐NO‐FL

5 TPE End Fitting Gasket  Joints (embouts) 2 SP‐117‐GSK

6 Thermal Safety Cut‐Out Cover  Capuchon Thermostat de Sécurité 1 Z‐MIS‐HLS‐CVR

7 Contro Thermol stat Dial  Molette de Contrôle Themostat 1 Z‐MIS‐CS‐DIAL

8 Upper Foot  (With Key Hole Hooks)  Pied Superieur(sans fixations) 1 Z‐IM‐NO‐FU

9 Control Thermostat  Themostat de Contrôle 1 SP‐MIS‐CS

10 Left End Fitting (Non F/S)  Embout Gauche  1 SP‐117

11 Right End Fitting (F/S)  Embout Droit (Coté Détecteur de Debit) 1 SP‐117B

12 273‐mm M6 Tie Bar  Tiges de Serrage 4 Z‐STU‐273

13 M4 x 25‐mm Zinc Coated  Pozi Pan Screw  Clous M4 x 25mm 4 Z‐FIX‐M4X25

14 M6 Cap Nut  Ecrou M6 4 Z‐FIX‐M6CAP

15 Thermal Safety Cut Out  (Manual Reset)  Themostat de Sécurité 1 Z‐MIS‐BS‐60‐50

16 M8 Hex Nut (For Thermal Cut Out)  ecrou M8 (Thermostat de Sécurité) 1 Supplied with #15

17 Nano Ops Panel Overlay  Revêtement Supérieur 1 Z‐LAB‐NANO

18 M4 x 6‐mm S/S CSK  Vis M4 x 6mm 2 Z‐FIX‐M4X6CS

19 Neon Indicator Lamp  Indicateur Lumineux 1 Z‐MIS‐NEON

20 M4 Hex Nut  Ecrou M4 2 *

21 Nano Splasher Flow Switch  Détécteur de Débit Nano 1 SP‐107‐N‐S

22 M6 S/S Hex Nut  Ecrou M6 S/S 4 Z‐FIX‐M6HEX

23 EPDM Element Ferrule  Joint Résistance 2 *

24 Surface Mount Relay  Relais 1 Z‐FIX‐M6HEX

25 M3 x 14 ‐mm FLG Pozi Zinc Coated  Vis M3 x 14 mm 2 Z‐FIX‐M3X12‐FLG

26  Heating Element                Resistance Inox 1 Refer to Table 1

27 Power Supply Lead Cordon d'Alimentation avec Prise EU 1 X‐CAB‐N‐SPA‐R              

28 M5 S/S Full Hex Nut  Ecrou M5 S/S  1 *

29 M5 S/S Locking Washer  Joints M5 1 *

30 Earth Ring Terminal  Anneau de Terre 1 Z‐CON‐YR53

31 M5 S/S Half Hex Nut  Ecrou M5 S/S ‐ 1/2 Hex 1 *

32 Stepped Element Washer   Virole Résistance 2 *

33 Element Support Support Résistance 1 *

34 M3 x 8 ‐mm FLG Pozi Zinc Coated  M3 x 8 mm FLG 2 Z‐FIX‐M3X8FLG

35 Button Stat Holder Fixation Themostat 1 Z‐MIS‐N‐BSH

36 Resetting pin Bouton de Reset 1 Z‐MIS‐N‐RS

*
Nano Element Fixing Kit (Comprising of: 2x20, 

2x23, 1x28, 1x29, 1x31, 2x32 & 1x33)
Kit de Fixation por Resistance 1 SP‐EL‐FIX‐NANO



WE RESERVE THE RIGHT TO CHANGE ALL OR PART OF THE FEATURES OF THE ARTICLES OR CONTENTS OF
THIS DOCUMENT, WITHOUT PRIOR NOTICE.

NOUS NOUS RÉSERVONS LE DROIT DE MODIFIER EN TOUT OU EN PARTIE LES CARACTÉRISTIQUES DE NOS
ARTICLES OU LE CONTENU DE CE DOCUMENT SANS AVIS.

CI RISERVIAMO IL DIRITTO DI MODIFICARE IN TUTTO O IN PARTE LE CARATTERISTICHE DEI NOSTRI ARTICOLI
O CONTENUTO DI QUESTO DOCUMENTO SENZA PREAVVISO.  

11 Gunnels Wood Park, Gunnels Wood Road 
Stevenage, Hertfordshire, SG1 2BH, UK 

Tel: +44 1438 749 474 sales@elecro.co.uk

Version 1. 2018 4/4

Table 1:

No. of heating 

elements:
Part Code: Description:

1 SP‐EL‐IC1KW7T 1‐kW Incoloy Heating Element

1 SP‐EL‐IC2KW7T 2‐kW Incoloy Heating Element

1 Z‐EL‐IC2.8KW7T 3‐kW Incoloy Heating Element

1 Z‐EL‐IC4KW7T 4‐kW Incoloy Heating Element

1 Z‐EL‐IC4.5KW7T 4.5‐kW Incoloy Heating Element

1 Z‐EL‐IC65KW7T 5‐kW Incoloy Heating Element

1 Z‐EL‐IC6KW7T 6‐kW Incoloy Heating Element

1 Z‐EL‐IC8KW7T 8‐kW Incoloy Heating Element

N‐SPA‐1 N‐SPA‐1‐R N‐SPA‐T1 N‐SPA‐T1‐R 1 SP‐EL‐Ti1KW7T 1‐kW Titanium Heating Element

N‐SPA‐2 N‐SPA‐2‐R N‐SPA‐T2 N‐SPA‐T2‐R 1 SP‐EL‐Ti2KW7T 2‐kW Titanium Heating Element

N‐SPA‐3 N‐SPA‐3‐R N‐SPA‐T3 N‐SPA‐T3‐R 1 Z‐EL‐Ti2.8KW7T 3‐kW Titanium Heating Element

N‐SPA‐4 N‐SPA‐4‐R N‐SPA‐T4 N‐SPA‐T4‐R 1 Z‐EL‐Ti4KW7T 4‐kW Titanium Heating Element

N‐SPA‐4.5 N‐SPA‐4.5‐R N‐SPA‐T4.5 N‐SPA‐T4.5‐R 1 Z‐EL‐Ti4.5KW7T 4.5‐kW Titanium Heating Element

N‐SPA‐5 N‐SPA‐5‐R N‐SPA‐T5 N‐SPA‐T5‐R 1 Z‐EL‐Ti5KW7T 5‐kW Titanium Heating Element

N‐SPA‐6 N‐SPA‐6‐R N‐SPA‐T6 N‐SPA‐T6‐R 1 Z‐EL‐Ti6KW7T 6‐kW Titanium Heating Element

N‐SPA‐8 N‐SPA‐8‐R N‐SPA‐T8 N‐SPA‐T8‐R 1 Z‐EL‐Ti8KW7T 8‐kW Titanium Heating Element

N‐SPA‐S8 N‐SPA‐S8‐R

N‐SPA‐S4

N‐SPA‐S5

N‐SPA‐S4.5

N‐SPA‐S6 N‐SPA‐S6‐R

N‐SPA‐S5‐R

N‐SPA‐S4.5‐R

N‐SPA‐S4‐R

Product Code:

N‐SPA‐S1 N‐SPA‐S1‐R

N‐SPA‐S2

N‐SPA‐S3 N‐SPA‐S3‐R

N‐SPA‐S2‐R




